Use the half reaction method to balance the following equations:
In acid solutions (add H2O and/or H+ to balance):

         H2S(g)  + Cr2O72- (aq)                 S(s)  +  Cr3+ (aq)

H2C2O4 (aq)   +  MnO4 – (aq)                  CO2 (g)  +  Mn2+ (aq)

Ag+ (aq)   +  HCHO (aq)                            Ag (s)   +  HCOOH (aq)

The following are in basic solution

(balance as if they were in acid, then add OH- to convert to basic solution):

               Zn (s)  +  ClO-                      Zn(OH)2 (s)  +    Cl- (aq)

Fe(OH)2 (s)   +    CrO42- (aq)                   Fe2O3 (s)  +  Cr(OH)4- (aq)

               Br2 (l)                       Br- (aq)  +  BrO3- (aq)        this is a tricky one

Answers:

In Acidic Solution:

3 H2S  + Cr2O72- +  8 H+                  3 S(s)  + 2 Cr3+  +  7 H2O

5 H2C2O4 +  2 MnO4-  +  6 H+                    10 CO2  +  2 Mn2+  +  8 H2O
2 Ag+  +  HCHO   +   H2O                      2 Ag (s)  +  HCOOH  +  2 H+
In Basic Solution:
Zn (s)  +  ClO-  +  H2O                       Zn(OH)2  +  Cl-
6 Fe(OH)2  +  2 CrO42-                    3 Fe2O3  +  2 Cr(OH)4-  + H2O  + 2 OH-
6 Br2 (l)   +  12 OH-                10 Br-  +   2 BrO3-  +  6 H2O

